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e for (int i = 2; 1 <= n; ++ 1)
* dp[i] = dp[i - 1] + dp[i - 2];
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 for (int 1 =0; i <=n; ++ 1) {
if (i + 1 <= n) dp[i + 1] += dp[i];
if (1 + 2 <= n) dp[i + 2] += dp[i];
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const int MOD = 998244353;
int dp[101] = {0, 5, 100};
for (int i = 3; 1 <= 100; ++1) {

dp[i] = dp[i - 1] + dp[i - 2] % MOD; /
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 dp[i] = (10LL * dp[i-1] % MOD - dp[i-2] + MOD)%MOD
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5 /]\?E EE #include <iostream>
® JEE using namespace Std;
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dEbug ;FE-F”EJ F':'EJEEJEbJ int grid[201][201], dp[201][201];

code FHTEMP(REEHTELL)

int main() {
int m, n;
cin >> m >> n;
for (int 1 = 1; 1 <= m; i++)
for (int j = 1; j <= n; j++)
cin >> grid[i][j];

for (int i = 1; i <= m; i++)
for (int j = 1; j <= n; j++)
dp[i][j] =

grid[i][j] + max(dp[il[j - 11, dp[i -

cout << dp[m][n] << '\n';

}
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#include <iostream>
LN lamespace std ;
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for (int j = 1; ] <= n; j++)
dp[i][j] = grid[i][]j] + max(dp[i][j - 1], dp[i -

cout << dp[m][n] << '\n';

}
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